SAP ABAP table THMHRT HR STRAT {Effectiveness strategy for the hedging relationship}

THMHRT HR STRAIT-STRAT = THMHRC HR STR-HRSTRATEGY THMHRC_HR_STR

ST TTTTTTTTTTTTTTTT 0..N [MANDT [CLNT (3)]

- HRSTRATEGY [NUMC (4)]

—_— —- _——
—_— - —_—

T i THMHRT_HR
_____ THMHRT HR STRATHEDGE ID = THMHRT HR-HEDGE _ID MANDT [CLNT (3)]
__ THMHRT HR_STRAT-HR VERSION = THMHRT HR-HR Vﬁﬁs_lc_)l(r - 1 |BUKRS [CHAR (4)]
o THl\—/II—{Ei"l—"_—H—R:S_T_R_A”l:-l\—/IAﬂI]Sf _ THMHRT HR-MANDT } RFHA [CHAR (13)]

- --- HEDGE ID [NUMC (10)]

—_— T
—_— -

THMHRT HR STRAT-RFHA = THMHRT HR-RFHA _ -1 |HR_VERSION [NUMC (3)]




